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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3H = -140 x 2H +1 -140
2 it [ri] 4H = -420 x 2H +1 -140 7
3 panyiie] x INT +1 -120 [ri] 2H -1 100 6
4 PWE=] x 4H +3 -710 [rif] 5D +1 -620 3
5 |mt| @ | 20 | = |10 & | 35 | = | 140 6
6 panyiie] [ri] 2S +1 -140 x 2S = -110 1
7 WE=] [£3] 2S -4 -400 [£7] 2S -2 -200 5
8 TS 1t 2C = 90 x 2D -1 50
9 panyiic] [ri] 2NT -1 100 [£3] 2H -1 -50 4
10 | \WHB 1t 2NT -2 -200 1t 2H -1 -100 3
DATUM it iFEE
w=IZTFRA BS3EE—PA r. 5] 5 31
MEB/EES -21 BN/ R 5 Aait 5 31
FEN/REBZE -5 Z=BREN/#75edE 21 V.P. 284 | 17.16




BREEE (BTHER)

¥ 3% %2 5 2016411 H24H
13 HiXHFAX VS 16 I FREFKBA
H= A=
HFOX JZREFKOA JZREFKOA HFOX
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 2H +1 -140 1t 2S = 110 6
2 it x 3NT = -400 x 4H +1 -450 2
3 panyiic] x 3NT -1 100 x INT +2 -150 6
4 E=] x 4H +2 -680 2] 6D = -1370 12
5 it [ri] 4H -1 50 1t 3S +1 170 3
6 panyiie] 1t 3D = 110 x 4S -2 200
7 E=] x 2NT +3 -210 x 2NT +2 -180 1
8 TS x 3D -1 50 [£3] 3C -1 -50 3
9 panyiic] [ri] 3NT -2 200 [ri] 3NT -2 200
10 | \WHB x 2H -2 200 1t 2H = 110 3
DATUM%tit iFE
N AX I HRERBA y. S+ ] 26 | 13
ZXAE/EELT 13 EBNLRTHE O Aait 26 | 13
BRIt/ FriiciEa O BEE/N) | EF -13 V.P. 14.28 | 5.72
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1 TS x 3H = -140 x 2H +1 -140
2 it x 4H +1 -450 x 2NT +3 -210 6
3 ,?ﬁ x INT +1 -120 [£3] 1S -2 -100 1
4 E=] x 4H +2 -680 2] 3D +2 -150 11
5 it [£3] 4Sx -1 -200 [£3] 4S = 620 13
6 panyiic] x 2S = -110 1t 3D = 110 6
7 E=] x 2NT +1 -150 x 3NT -2 200 8
8 TS 1t 3C -2 -100 [£3] 2H -1 -50 2
9 panyiic] x 3S -2 200 [ri] 3NT -2 200
10 | \WHB [£3] INT = 90 1t 3H -2 -200 7
DATUMSit T
GSEPA SZENEARA Y. 3+ 7 47
BNE/RCE -13 SREELE/IREE 30 ait 7 47
Z=401h/Z=3E -30 IBE/FRER 13 V.P. 0.78 | 19.22
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1 TS x 4H -1 50 x 2H +1 -140 5
2 it x 4H +1 -450 x 3NT +1 -430 1
3 panyiie] x 4Sx -2 500 [£3] 1S -2 -100 12
4 |WB] &® 4H | +2 | -680 | 7 5D | +1 | -620 2
5 it [£3] 3S = 140 75 4H -1 50 3
6 panyiie] [ri] 3S = -140 1t 3D +1 130 7
7 E=] x 3H -1 100 [ri] 3NT +1 -630 12
8 TS [ri] 1D +2 -110 [ri] INT = -90 1
9 panyiic] [£3] 2H -1 -50 [ri] 2NT -2 200 6
10 | \WHB 1t 2H = 110 1t 2H = 110
DATUM&iit iFE
HEKS SREF v 5 ] 32 | 17

FiRkE/BEZE 14 SinE/BE -7 ait 32 | 17
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 2H +1 -140 [£3] 2S -1 -50 3
2 it x 3NT +1 -430 [ri] 4H = -420
3 panyiie] [£3] 1S -2 -100 x 3NT +1 -630 11
4 WE=] x 4H +2 -680 ® 4H +2 -680

5 it [£3] 3S = 140 1t 2S +1 140

6 g x 3S = -140 x 3S -1 100 6
7 WE=] [£3] 2S -3 -300 x 3NT +2 -660 8

8 TS x 3D 1 50 x 3Dx -3 500 10
o ,?ﬁ [ri] 2NT = -120 [ri] 2NT -1 100 6
10 | WHB [£3] INT = 90 1t 2H +1 140 2
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1 |wxl &= | 4H | +1 | 450 7 | aNT | = | -90 8
2 |&kl & | aNT | +2 | 430 7 | 4H | +1 | 450 | 1
3 panyiie] [ri] INT +2 -150 x 3NT -1 100 6
4 WE=] [ri] 4H +2 -680 ® 4H +2 -680
5 it x 3H -1 50 [£3] 4S -1 -100 4
6 panyiie] 1t 2D +1 110 1t 3D = 110
7 WE=] [£3] 2S -1 -100 x 2NT +3 -210 3
8 TS 1t 3H -3 -150 [ri] INT +1 -120 1
9 g x 4Sx -4 1100 [ri] 3NT +1 -630 17
10 | \WHB 1t 2H -1 -100 x 2S -1 100 5
DATUM% it iFEE
FA5LCHEBA mXETFEA r. 5+ 25 | 20
BF=/BENNE O BRiE/ i -13 Aait 25 | 20
Bk R/ ARSI 13 EiER/ZRER @) V.P. 11.85 | 8.15




BREEE (BTHER)

% 35 7R 2016411 724H
5 iR SEFIFD VS 17 i®&BHES
H= A=
REERD T T REERD
1t ERs g ITE— =0
FA EER 7 EER B = 7 B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 2S -1 -50 [ri] INT -1 50 3
2 it x 4S +1 -450 [ri] 3H +1 -170 7
3 panyiic] 1t 3D = 110 x 4S -3 300 5
4 WE=] [£3] 4Sx -1 -200 ® 4H +2 -680 10
5 it [£3] 3S = 140 [£3] 2S +2 170 1
6 panyiie] [£3] 3NTXx = 550 x 3S -1 100 10
7 PE=] [£3] 25X -1 -200 [ri] 2S +2 -170 1
8 TS 1t 2C -1 -50 x 3D +1 -130 2
9 g [ri] 2NT -1 100 x 3S -2 200 3
10 | \WHB 1t 1H = 80 x 2S -2 200 3
DATUMSit T
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HERS/EER 29 XIFEH /53 = 28 ait 22 | 23
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1 |wxl %= | 20 | +2 | 290 ® | 2H | +1 | -140
2 |mitl & | a1 | +1 | 450 | &= | a1 | = | -a20 1
3 |mE| & | aNnT | +2 | 50| & | onT | 42 | 280 | 2
4 |wal & | 4aH | +2 | 680 | &&= | 4H | +2 | 680
5 |gdt| & | 21 | = | 120} & | 4sx | -1 | 200 3
6 |mm| /| | 2s | +1 | 140 ® | 3s | = | -140
7 |wal & [ anT | 2| 1200 | 7 | 3NT | +1 | 630 | 12
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o || & | aNnT | -2 | 100 46 | 20 | = | 90
10|wael ® | 3¢ | 2| w00 4 | 20 | 2 | 200 s
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1 TS [ri] 3NT -3 150 x 2H +1 -140 4
2 it [ri] 4H = -420 x 2H +3 -200 6
3 panyiie] [ri] 4HX -3 800 x 2Sx = -670 16
4 E=] [ri] 5D +1 -620 ® oH = -1430 13
5 it [ri] 5Hx -3 500 75 2H = -110 12
6 panyiic] x 2S -1 100 x 2S = -110 5
7 PE=] x 3NT +2 -660 x 3NT +1 -630 1
8 TS x 3D -1 50 x INT -1 50
o panyiic] [ri] 2NT -2 200 [£3] 2H -1 -50 6
10 | \WHB [£3] 2D = 90 1t 3H -2 -200 7
DATUMSit T
TZEHBEPA B =i HEA Y. X+ 66 7

KRERR/ABIE, 28 EFBE/REEE -45 ait 66 7
SKIRBB/FEE8Y 45 e/ AR5 -28 V.P. 20
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxel = | 4as | 2| w00 ;& | 45 | = | 420 ]| 12
> |mt] 46 | 31 | = | 40| & | 31 | = | 140
3 |FAL B3 3NT | +1 430 [£3] 3NT | +1 430
4 |wal & | anT| 2| 200 &= | oanT | = | 120 6
5 |&dt] 4t | 2px | +2 | ss0 } 4t | 3D | +2 | 150 | 10
6 |zm| 46 | 30 | -2 | 50 | 4t | INT | +3 | 180 6
7 |ws| &8 | s | +1 | 620 | & | 5D | +1 | 620
8 |wxl| 4t | 2s | 2| 0 | ® | 3c | +1 | 130 | 2
o |zm| & | anT | +3 | 690 | 7 | aNT | +3 | -690
10 |wa| 46 | ec | +1 | 1390 ® | 6NT | +1 | 1470 7)
DATUM&iit A
EHNFORX Bt —BA r. 3+ 29 | 8
BBAT /234 10 EOm/ IR 11 ait 29 | 8
[t/ TR 11 Z=BREN/4%75e3E -10 V.P. 16.18 | 3.82
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1 TS x 4S = -420 x 4S 50 10
2 it [£3] 2H +1 140 x 2S -2 100 1
3 panyiie] 1t 2D +3 150 [£3] 3NT +1 430 7
4 E=] x 3NT -1 100 [£3] 2S -1 -100 5
5 it x 3H -2 100 75 3S -1 50 2
6 panyiie] [ri] 3H -3 300 7 3H -1 100 5
7 WE=] [£3] 5D +1 620 [£7] 5D = 600 1
8 TS [ri] INT = -90 [ri] INT = -90
9 panyiie] x 3NT +1 -630 x 4S = -620
10 | WHB 1t ONT +1 1470 1t 6C +1 1390 2
DATUMSit T
STENEARA iw®IZETFPA Y. X+ 16 17
oREELE/IREE -9 SRERZR/P_IR -6 ait 16 17
ZIE/ARHER 6 WRAEES 9 V.P. 9.61 | 10.39
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1 TS x 4S +1 -450 x 4S -1 50 11
> |mitl & | a0 | 2 | 200 4t | 31 | = | 140 8
3 ,?ﬁ [£3] 3NT +1 430 [£3] 3NT +2 460 1
4 PWE=] x 3NTXx -1 200 ® 3NT -2 200
5 it x 3S -1 50 1t 4D = 130
6 panyiie] 1t 1S -1 -50 1t 2D +1 110 4
7 WE=] [£3] 5D +1 620 [£7] 5D +1 620
8 TS x INTX = -180 x 3C +1 -130 2
9 ,?ﬁ [ri] 3NT +2 -660 [ri] 3NT +2 -660
10 | \WHB [£3] ONT +1 1470 1t 7C = 2140 12
DATUMSit T
I Z&ERPA HEKSB Y. X+ 40
EBRNNRTRE 23 TiRESEE 19 ait 40
2EE/MIEF  -19 MIB/ME EE 23 V.P. 0.78 | 19.22
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT -2 100 x 4S -1 50 2
2 it 1t 2H +2 170 1t 3H +2 200 1
3 ,?ﬁ [£3] 3NT +2 460 1t 2D +2 130 8
4 WE=] x 5D -3 300 ® 2D = -90 9
5 [@dt| & | aNT | +1 | 120 § 4t | 3D | +1 | 130
6 panyiie] [£3] 3D = 110 7 3H -3 300 5
7 E=] [£3] 5D +1 620 [£7] 6Dx = 1540 14
8 TS 1t 2H -1 -50 1t 4Sx -3 -500 10
9 ,?ﬁ [ri] 3NT +2 -660 [ri] 3NT +1 -630 1
10 | \WHB 1t 6C +1 1390 [£3] ONT +1 1470 2
DATUMSit T
iIFSRIEPA GeEPA Y. X+ 29 23
(ETN =k 11 EXE/RICE 3 ait 29 | 23
Yabavis 20)W5en -3 247 /Z=3IE 11 V.P. 12.18 | 7.82
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1 TS [ri] 3NT +1 -430 x 3NT -1 50 10
2 it 1t 2H = 110 [£3] 3H = 140 1
3 ,?ﬁ [£3] 3NT +2 460 [£3] 3NT +2 460
4 PWE=] x 2NT -1 100 [rif] 3NT -3 300 5
5 (&bl & | abx | 2 | 300 f & | 2¢ | = | 90 | s
6 ,?ﬁ 1t 3D +1 130 [£3) 4D -1 -50 5
7 PWE=] [£3] 6DXxXx = 1830 [rit] 6S -3 300 17
8 TS 1t 3S -2 -100 [£3] 3D -2 -100
9 |FAEL A& 3NT | +1 | -630 [ri] 3NT | +2 | -660 1
10 | \WHB 1t 6C +1 1390 [£3] ONT +1 1470 2
DATUMSit T
BREEPA RS ENFD Y. X+ 28 18
SnsE/HE 12 Baif/Ef -4 ait 28 18
ERE/EEET 4 DH K/ EER -12 V.P. 13.43 | 6.57
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1 TS [ri] 3NT -1 50 x 4S = -420 10

2 it 1t INT +1 120 [£3] INT = 90 1
3 ,?ﬁ [£3] 3NT +2 460 [£3] 3NT +1 430 1
4 WE=] x INT +1 -120 [£3] 2S -1 -100
5 it [ri] 2S = -110 75 3H -1 50 4
6 ,?ﬁ 1t INT +1 120 [£3] 3D = 110
7 E=] [£3] 5D +1 620 1t 6D +1 1390 13
8 TS 1t 2S -1 -50 1t 3S -2 -100 2
9 panyiic] x 3NT = -600 [ri] 3NT +2 -660 2
10 | \WHB 1t 6C +1 1390 1t ONT +1 1470 2

DATUMSit T
SIEGES [EIEH R = 1UN Y. X+ 16 | 20

EZER/ITFER -7 PEPINE 7 vl -3 ait 16 | 20
A= /XIFEHT 3 [k < /BEn0F 7 V.P. 85 | 11.5




BREEE (BTHER)

%45 7R 2016411 724H
14 FRYIZLEPA VS 12 EBETFRA
H= A=
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5 BEE 7 RER & BER 7 - WEIE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT -1 50 x 4S 50

2 it 1t 2H +1 140 x 1S -1 50 3
3 panyiie] [£3] 3NT = 400 1t 2D +2 130 7
4 WE=] x 3NT -2 200 5| 3HXx -3 -800 14
5 it 1t 3NT = 600 1t 2D +2 130 10
6 panyiie] 1t 2NT +1 150 7 3NT +3 -690 13
7 E=] [ri] 5Sx -2 500 [£7] 2H -1 -100 12
8 TS 1t 3S -3 -150 [£3] 2H -1 -50 3
9 ,?ﬁ x 3NT +1 -630 [£3] 2D +1 110 12
10 | \WHB [£3] ONT +1 1470 1t 7C = 2140 12
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A E—F 7h : 2epte B3 SKEER 74 : 3KEE
x| | R | m | R | mee| e | 2 |er axe| 20| T

1 TS x 4S -1 50 x 4S -1 50

2 it [£3] 4H = 620 1t 3H = 140 10

3 |FAL B3 3NT | +1 430 [£3] 3NT | +1 430

4 E=] x 2NT -1 100 ® SNTxx| -2 1000 14
5 it 1t 3D +1 130 75 4H -2 100 1

6 ,?ﬁ [ri] 3H = -140 1t 2D +1 110 6
7 E=] 1t 3NT = 600 [ri] 5Sx -1 200 9

8 TS 1t 4Sx -1 -100 [ri] INT = -90

9 ,?ﬁ [ri] 3NT +2 -660 [ri] 3NT +2 -660
10 | \WHB 1t 6C +1 1390 1t 6C +1 1390

DATUMSit T
Sl I Bi5ipk—PA Y. X+ 20 20
Ea/E—F 4 2T/ KRR 7 ait 20 | 20
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5 76 - AAT & Bt 7 - BOR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 4S -1 50 x 3NT = -400 10

2 it [ri] 3D -2 100 [£3] 4H -2 -200 4
3 panyiic] [ri] 2D -5 500 1t 3D +1 130 9
4 WE=] x 3NT -2 200 ® 2NT = -120 8

5 it [ri] 4HX = -590 1t 4D = 130 12
6 panyiic] [ri] 2H -2 200 1t 1S +2 140 2

7 WE=] [£3] 5D +1 620 1t 5Dx +1 950 8
8 TS 1t 2S -1 -50 1t 2H -2 -100 2

9 ,?ﬁ [ri] 3NT +2 -660 [ri] 3NT +2 -660
10 | \WHB 1t 6C +1 1390 [£3] TNT = 2220 13

DATUMSit T
TZEHBEPA B =i HEA Y. X+ 38 | 33

SKZRBB/FEEEN -4 XEHE/ BT -7 ait 38 33
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